E:=200 GPa  b:=10
wi=113.1 7% po
S

clear, (E,I,m,f,w)

mm h:=1.25 mm

J:=—.b-h°

w
27 12

m:=0.08 kg

assume ,ALL =real
solve,l

l:=f=

1 3-E-1
27 m.l3

—4.923 — 8.526i
—4.923 + 8.5261
9.845

=

. 3-E.1 ’
e
2
L 3-E-1 i
< 3.11_1>.(4'f2 .m.ﬂ_z)
2
3-E-1 &
o

e

OR, if you'd like to see w instead of f

clear (1)

symbolic evaluation shows the
formula, numeric evaluation
shows the value



assume ,ALL =real

3
substitute 3-FE-1 .
1L I c1li—1
’ 1 3.E.] solve,l,simplify (4-f2 .m.WQ) <\/5 1 >
T 2 . m-l® 2
1
3
3-E-.1
4.f* emen®
1
3
3:FE-1
—(1i-4/3) -1
(2B - (ovB)-o
2
1
3
3-E-.1 .
—4.923 — 8.526i (4-1‘2 .m.ﬂ2) <11-\/§—1>
l=|-4.923 4+ 8.526i | cth—
9.845 2 1
3
3-E.1
4.f* emem’
OR you start with a slightly different equation
I
3
clear (1) <—<\/§-1i>—1> 3.E.T
w2 m

assume ,ALL =real
solve,l

l::l:i- 3:-E-1
w m.l3




:

—4.923 — 8.526i
—4.923 + 8.526i1
9.845

]cm




